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BRAEHB | Sf3.6.156 | Sf3.6.15 | Sf3.6.15 | &F3.6.156 | SF13.6.15 | SF13.6.15
WEM | n | WEM [ n | WEME |n| WEE | n | WEM | n | WEME | n
& ok R
(%) 53. 2 1 38. 2 1 48. 1 1 28.8 1 34.1 1 49. 8 1
(0]
B O B
R ﬂoi 5.6 1 5.7 1 7.4 1 3.7 1 5.0 1 8.7 1
(%)
H 7.4 1 7.5 1 7.7 1 7.6 1 7.6 1 7.6 1
c oD 8500 1 7800 1 13000 1 5300 1 6700 1 11000 1
(mg/kg)
vy
e fe 290 1 430 1 80 1 30 1 30 1 250 1
(mg/kg)
NI AN
< v 0.74 1 0.17 1 0.28 1 0.07 1 0.12 1 0.17 1
(mg/kg)
/\
ida)
(ng/kg) 35 1 20 1 30 1 12 1 18 1 25 1
7 " n 39 1 22 1 33 1 17 1 32 1 42 1
(mg/kg)
==
it NI 1 5.1 1 7.2 1| 6.6 1 4.9 1 5.7 1
(mg/kg)
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ko R 0. 85 1 0.12 1 0.29 1 0. 06 1 0. 09 1 0.11 1
(mg/kg)
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=K (O/f 63.7 1 928.2 1 69. 2 1 65.3 1
e ﬁ(f; 10. 1 1 2.6 1 9.1 1 8.3 1
p H 8.4 1 8.2 1 8.0 1 8.1 1
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=K (O/f 58.8 | 30. 0 1 52.5 |
0
< ?m;kg 0.2 1 0.1 1 0.1 1
T 7 v
(ng/ka) <1 | <1 1 <1 |
i 97 | 7.9 1 19 |
(mg/kg) ’
A il fm;k:) <5 | <5 1 <5 |
fitt =
(mg/k) 9 | | 1 9 |
e ﬁlg /kf 0.11 | <0.01 1 0. 08 |
7”#(;2;? €0. 01 | €0. 01 1 €0. 01 |
P C B
/) €0. 01 | €0. 01 1 €0. 01 |
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(%) 41.0 1
gROEV R &
(%) 4.3 1
p H 7.8
C O D
(ng/ke) 0.8 7500 1
it b W
(mg/kg) 85 !
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(ng/ke) <0.01 0.1 1
&
(mg/kg) 4.0 15 1
4 = N
(ng/ke) 7.5 11 1
fiik =
(ng/ke) 7.8 4.4 1
Wk 4R
(mg/kg) <0.02 0.12 1
P ¢ B <0.01 1
(mg/kg) :




